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A

15

If the addition of two whole numbers is 64, which of the following ratios is not applicable to
them? f

AY 54973 ' B) sl C) 3:4 . D)97
S qsm"%ﬂl@ CAITITR 64 626M, F6CID 60Q AQAGT AR QIR YYS ge@‘?
A): 543 Byo7 4 By 354 D Bl -

What shall be the percentage of discount if the marked price of an article is Rs.300 and the sale
price Rs.270?

A58 B) 8 e L1 D) 12

6415\ Q1A AYS FRY 300 6F1 6 TG4 R 270 SR 626M ISRG! AT 6Q6S ?

A) 5 B) 8 gy 10 D) 12

What is the difference between 17% of 120 and 8% of 1087

A) 10.66 B) 10.76 C) 11.76 D) 11.66

120 @ 17% 6 108 Q 8% FIRIEQ ABA 6R6G? :

A) 10.66 By 0 C) 11.76 D) 11.66
Chidfte iR OW?

A) 123.21 B) 12.321 ©y; kg3l D) 1.2341

(ATt 6Q60 6297 ;

A) BT B) 12321 B 4321 D) 1.2341

The cost of carpeting a room of 18m long with a carpet of 75 cm wide at 45 paisa per meter
comes to Rs.81. What is the breadth of the room? .

A) 7m B) 7.5m C) 8m D) 85m

691G~ 18 FieQ 65diQ G]Qﬁj_ 75 694 AeQ g9 QI QIREAL 69 SRI9QI AR e 9@ 45
JaQl 226 81 @I §I9 16069 Z QR JY 6966 ?

A) Tm B). 748 C) 8m D) 85m
V12 x V45 x V15 = ?

A) 90 B) 92 C) 90V3 D) 90V5
V12 x V45 x V15 = ?2

A) 90 B) 92 C) 90v3 D) 90V5
What is the ratio between 0.01 and 0.001?

A) 1:10 B) 1:100 C) 100:1 D) 10:1
0.01 99° 0.001 Q 2QUIG 6R6S? '

A) 1:10 B) 1:100 ‘ C) 100:1 D) 10:1

The population of a village is 8000. What will be its population after 3 years, if it increases at
the rate of 10% every year?
A) 10618 B) 10628 C) 10648 D) 10678

60T GINIQ RIS A°SHYI 8000 1 AQ QG Q°Gtul g@@@ 10% QUQER Q@ dng, 3 Qg Q6 692
QIFIR EMI@ Ll 6TEC 6€Q |

A) 10618 B) 10628 C) 10648 D) 10678
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10.

11.

12.

13.

14.

15.

16.

Some principal amount is doubled in 20 years at simple interest. What is the rate of interest per
annum?

AYy9% B) 8% €) A0 D). 129
6QIGT IRTRUR AR QAUEK 20 QF6Q TS 29, 6062 QTR PIQ 2R 6R6G ?
AR B) 8% C) 10% D) 12%
The product of two numbers is 216 and their H.C.F is 6. What is their L.C.M?

A) 36 B) 48 €).- 60 D) 120
@@@ QAR GEITR 216 NQ° 6AAIP@R G1.ALG. 6 626M, AU FAQ N.QAl.G. 69662
A) 36 B) 438 5 068 D) 120
What times of H.C.F is the L.C.M of 48, 36, 72 & 24?

A) 6 B 120 C) 18 : D) 24
48,36, 72 NQ° 24 Q M.4I.G]. NI 61.Q1.G. Q 6Q6% Q&2 |

A) N B) 12 C) 18 D) 24

A student was asked to divide certain number by 3. But instead of dividing the number by 3 he
multiplied it by 3 and got 29.7 what is that number?

A) 3.3 By9.3 oy s ' By 9.9

@64l @I@Gi e %‘QQ- Ql°%1‘ﬂ€i 3' GIAl AUNKAR! AR @QIQ@I [ G?E{? 2IQ wdl@ <21°%NIG‘G:L '3' glal
QUG RS AAEQ '3 FIQU %1@ 29.7 IRl | 6969 698 A°HIT 626672

A)- 33 By 9.3 C) . %8 1) *99

The sum of two numbers is 24 and their product is 143. Find out the greater number?

A) 11 B) 12 Cla il D) 15

@@@ AR 6IFITR 24 NQ° 6T QETR143 | 6G6Q Q@ A°HIT 6REG?

A)all e i e e D) 15

The ratio of two numbers is 5:4. If 40% of the first number is 12, what will be 50% of the
second number?

A) w12 B) 14 ‘ C) 13N &5

Q@G‘ QA°GIQ AQAIS 5:4 | AT GAF TR 40 ORI 12 @Y, 606Q ?@1@ A°GYIRQX 50%
6Q60 699?

A) 12 - ¥ Gl D) 18

The average age of 16 persons is 28 years and 3 months. 2 persons left the group at the age of
58 years each. What is average age of the rest members?

A) 20 B) 24 C) 28 D) 30

16 98 QBTQ AALIA 99 28 T 3 A | QRS QYT geeia 58 Q8 QAR AR
FITOINGER | 2QIY QDA TIAULIA RV 69602

A) 20 B) 24 C) 28 D) 30

Rs.540 is earned as simple interest on certain amount at 5% interest in 3 years. What will be the
compound interest if the same amount is invested at the same interest rate for the same period?
A) Rs.567.45 B) Rs.547.45 C) Rs.467.45 D) Rs.417.45

5% QIR6Q 3 QT6A 66T 9]5:?&96) @ Gl 540 S@l 941 QIR QI LQAER AR QQQGQ
6QE NI 0QEF QI 6963 6297

A) Rs.567.45 B) Rs.547.45 C) Rs.467.45 D) Rs.417.45
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18.

19.

20.

21.

22.

23.

24.

A

What will be the percentage of profit if 3 lemons are bought at Rs.2 and 2 lemons are sold for
Rs.3?

A) 25% B) 50% C) 100% D) 125%
2 6R16Q 3 & 6me] @8 3 TFI6Q 2 § 6ASIIN 6R¢] IF F6A, IFRG! 6260 MW 6297
A) 25% B) 50% C) 100% D) 125%

If a number is divided by 36, the remainder is 21. What will be remainder if that number is
divided by 127

A) 9 B) 8 R D) 9

@ sl 36 LIl QTRER ASESS 21 9N, 6Q% QI 12 I VIG @EM QG 66T
6€Q?

A) 9 B) 8 )T ‘D) 9

If the base of a triangle is increased by 10% and its height decreased by 10% what percentage
will be the area of the new triangle with that of the original one?

A) 80% B 120%: . C) 87% D) 99%

60T GQR A 902! 10 QAR 8 APVIQ F9R! 10 AAIRER 699 GRG0 629 GI2IA
6JQUR ¢ YREA CAQXTRR VNG 6X6C &Sl 64?7

A) 80% B) 120% CY87% D) 99%

By what smallest number shall 2744 be multiplied to make the product a cubic number?
A) 1 By 2 Bl de o it D) 4

2744 @ 6QQ JQor! A°GHil I GEIR @6 GEITR @ W@ L°SH4l 69R?

A) 1 B2 L) 8 D) 4

0.02 is what percentage of 0.08?

A B)ulid )3 D) 4

0.02, 0.08 Q SO 62607

A) 28 B)ralksd 3 D) 4

The simple interest of some principal is its 16/25. If the rate of interest and the time are same
what is the rate of interest?

Ao B) 8 G 7 D) 4

6@l @ FRUNQ LR QoI AMUAQ 16/25 2°9 19Q Q@ U LA B8 AR AR §,
606Q QA LI 6RER ?

A) 5 B) 8 Co- o7 D) 4

7 years ago the age of Ajay and Bijay was in the ratio of 4:5. After 7 years the ratio of their age
will be 5:6. What is present age of Bijay?

A) 56 years B) 63 years Cc) 70 ycars D) 77 years

79 q@@ 2R 6 YRAQ QAR ?J‘QGIQ 4:5 gl |Q@?IIQOI@ 7 QJQ6Q 6QAIREES QAIQ
AQUIG 5 :6 62Q | 606 FR0Q QRIS 9l 69?6@ 7

A) 56 Q9 B) 63 Q9 C) 7099 D) 7798
Find out the sum of V75 + V108 + V192 = ? :
A) 19V3 B) 217 Cc) 375 P32
V75 + 108 + V192 Q 6916 IR 6960 = 2

A) 193 B) 217 C) V375 D) 32
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25.

26.

27.

28.

29.

30.

31.

32.

33.

Find out the 5 digit smallest number divisible by 41? ot

A) 10045 B) 10004 C) 10041 D) 10025
qlgw YL 69 YOI AW 41 FIQI FRURY? :

A)r (10045~ B) 10004 C) 10041 D) 10025

The L.C.M of 35 & 30 is how many times their H.C.F?

A) 40 B) 41 C) 45 D) None of these
35830 m. dl. 9. WIEQ C. 4l. . Q 6@6R Y&1?

A) 40 B) 41 C) 45 - D) 6al6ds qew
25% of which number is 19 less than 18% of 6507 :

A) 450 B) 500 ). 392 - D) 400

62R A°HMIQ 25%, 650 Q 18% OIQ 19 @¢1?

A) 450 B) 500 Er 392 D) 400

If the purchase price of 15 articles is equal to the sale price of the 10 articles, what is percentage
of profit? g
A) 25% B) 60% C) 40% D) 50%

156 GGaa @uqmi 6 10 T @59Q A@mI AR 626M, FERG! MR 62657
A) 25% B) 60% . C) 40% D) 50%

Find out the percentage of discount that has to be given once instead of giving serial discounts
at the rate of 20%, 10% and 15% on an article,?

A) 36.1% -B) 38.8% C) 31.6% D) 38.2%

601G GRY QU6Q SAIQLER 20%, 10% B 15% I¢ 69QI IGQ6R 26Q RIS 6Q6R, Gl
JORG| 6R60C BIP AL AAR 68R?

A) 36.1% B) 38.8% C) 31.6% D) 382%
A man takes 5 days to make 120 toys. How many toys can he make in 12 days?
&) 00 B) 288 C) 600 D) 1440

68 BT 120 T R6AR FAUQ QQQUIG 5 TR AT NG | B FER 12 TREQ 6REVIT
REAR G FAARER?

A) 60 B) 288 C) 600 D) 1440
Which of the following numbers is divisible by 111?

A) 1221 B) 1331 Cai 2235011 D) 123421
Q6D 629 A°HIT 111 FIQ FRURY |

A) 1221 B) 1331 (€)1 Al D) 123421
What is the cube of 1.3?

A) 0.2197 B) 21.97 C) 20.97 D) 2.197
1.3 Q AR 6R66? '

AN IR T B) 21.97 C) 20.97 _ )2

The present height of a tree is 64cm. Every year it grows by 1/ 8" of its height. What will be the
height of the tree after two years from now?

A) 76 cm B) 80cm C) 8lcm D) 84 cm

6OITN G18Q QAAIR A9GI 64 A, | 98 9P U 9% QEGIQ 1/8 &E 6@ 6669
QAR0IQ QAT TEQ ITQ ARG 66 6297

A) 76 6Q.8. B) 806Q.4. C) 816Q4. " D) 84 6Q.4.
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34.

35.

36.

. 37.

38.

39.

40.

41.

A

In how many years Rs.5400 will grow into Rs.6773.75 if saved in a bank at the interest rate of
12%, per annum?

A) 2 years B) 3 years ' C) 4 years D) 5 years

Rl 12 9@l Qo LI6Q 5400 Ol 661G QUITEQ QGEM 6REC Qg6a QI el 9@@‘5‘
Q 6773.75 Sl 699 ?

A) 2 years B) 3 years C) w4 years. .- D) 5 years

Which of the following numbers shall be added to both the parts of 3:5 to make the ratio of the
additions 5:6?

A) 6 B9 @y3d2 D) 13
P69 6o QA°BIQ 3: 5 Q QA ALEQ 6AITREM 6LIFTRQ UGS 5: 6 699 ?
A) 6 B) 7 (@) D) 13
What is the sum of the odd numbers between 1 & 317

A) 260 B) 256 @) 1257 D) 248

1 Q31 ISR GG LSl FlIPEQR 6T R 66?2

A) 1260 B) 256 @) 9252 D) 248

Three cubes of iron whose sides are 6 cm, 8cm, and 10cm respectively are melted and formed
in to a single cube. The side of the new cube formed will be:

A) 12 cm B) 14 cm C) 16 cm D) 18 cm

6 6.6, 8 6Q.8. B 10 6. &. QgRd @GQIG‘ emle 4o AAYag camin @ 9o
ATARER UQSG QRER, 7E9 4N QUG 6aaly @60 64997

A) 12 cm B) 14 cm C) 16 cm D) 18 cm
Find out the LCM of 3 a®b, 4 ab?& 6 ab.
AY 12 g*b* B) 12a*bh 612 g B D) 12ab
3a’h, 4ab*&6abe @ A o 69667
A 12 ain? B) 12a%b &) 12abd . Blsial2 ab

What is the rate of interest if a sum of Rs.4,000/- becomes Rs.5000/- in 5 years on simple
interest?

Ay 0% B) 8% Q) 5% D) 4%
A0 QI 2ARER 4000 SR 5 AFEQ 5000 ORI 626R, PIA TIA 66 ?
A) 10% B) 8% C) 5% D) 4%

After 4 years the principal amount of Rs.12,500 grows into Rs.15,500. Find out the rate of
interest? :

A) 3% B) 5% - C) 4% D) 6%
4 QF6Q 12,500 SFIRQ FRUS 15,500 SFI6Q ARES 9491 QTR AQR YAUQ LR 69667
A) 3% B) 5% C) 4% D) 6%

A milk vendor buys milk at Rs.4 per litre and adds 25% water to it. It he sells the adulterated
milk at Rs.5 per litre, what is the percent of his profit? AT

A) 56.25 B) 50.25 @) 55095 D) None of these

@64 A QUIAN REQ B 6.4 GA6Q VA @& 6Q26Q 25% Al TN 19T 6Q QI&FS!
Y MR GG 0.5 IAEQ IGN6Q, GIR FCRG! MWQA 6F6E 627

A) 5625 B) 50.25 @) 5905 D) 6996 @ Q6%
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42,

43.

44.

45.

46.

47.

48.

49.

7% expressed in decimal is?

&) 07 B) 0.07 C) 0.007 D) 0.0007
7% § QEFIR AHUICA RIS FEM 66T 62972
A) 0.7 By 0107 C) 0.007 D) 0.0007

The length of a rectangle is increased by 60%. By what percent would the width have to be
decreased to maintain the same area?

A) 37% - B) 60% CHsi 3% D) 37.5%

6QITN 2AREAGR G@ﬁ]‘{ se@sl 60 Q@ QAR | 606Q YLIQ JIq RG] 662 @R
CAQTRR GG-?']@Q J0QRR 629 QIT 2

A) 37% . B) 60% O) 75% D) 37.5%
Find out the LCM of a2 + ab &ab — b2

A) ab(atb)a-b) C) b(atb)a+b)

B) a(a-b)a-b) D) ab(a-b)a+b)

a® + ab &ab — b%Q M. Ao Qo 6Q6Q ?

A) ab(at+b)a-b) C) b(atb)a+b)

B) a(a-b)a-b) D) ab(a-b)(atb)

The population of a town is 300000. If the birth rate is 5% and the death rate 3%, what will be
the population of that town after 2 years? :
A) 321120 By 3220 % 21020 B)© 322140

69l ALAQ BRIV A 3000001 IS FQLIQ 5% G FRILIR 3% 6NN, 6569 2 @ U6R
6dL A29Q 6RIR A°HYI 6966 629 2

A) 321120 B) 311220 C) 312120 D) 322110

What will be the single rebate of two continuous rebates of 20% and 15%?

A) 22% B) 42% C) 32% D) None of these
QR GAIFE QARIT 20% B 15% Q 691G QRIG 6RE6E 62Q? :

A) 22% B) 42% C) 32% D) 69Q6& Q6L

The ratio of Milk and Water in a Mixture of 729 litres is 7:2. How much water shall be added to
the mixture to make the ratio of Milk and Water 7:3?

A) 99 liters B) 81 liters C) 72 liters D) 79 liters

729 QGQ @R ﬂﬂ@ FACQ QA G @R AQAIG 7: 2 | 606Q QD G?ﬁ? Fge Q16 6262
AANEIQ @@ FGIRER V1A 6 YRQ AGAIS 7:3 6297

A) 9@ B) 81 @ C) 2@ D) 79@
Find out the number in sixth place of the sequence: 2, 6, 11, 17,24, .... ?

A) 26 B) 30 EYr 32 D) 36
2,6, 11,17, 24,...2 9% UQQFI6Q VY A°SHYIT 6@6G? '

A) 26 ) 30 () 32 D) 36
The diameter of a circular wheel is 168 cm. How far will it travel in 100 revolutions?
A) 528m B) 520m C) 460m D) 440m
63T QR @A QUIA 168 6AF | 100 2Q JRSH ILEREE Q16 2B @QQ?
A) 528m B) 520m C)460m - . D) 440m

JC-MAT-2015 (8)



50.

b

52.

53.

54.

55.

56.

57.

58.

Which of the following numbers has the highest number of factors?

A) 99 B) 101 C) 176 D) 182
Q¢ AYE 699 A°HIQ AR YIHAR 2F?

A) 99 B) 101 C) 176 D) 182
31728 x 15625 = ?

AY SHp 0 B) -240 C) -280 D) -300
3/-1728x 15625 = ?

A) -180 B) -240 C) -280 D) -300
What will be simple interest of Rs.1200/- at 4.5% per annum in 5 years?

A) 140 B) 207 C) 204 D) 270
QTR 4.5% QUREQ 1200 FFIQS FFEQ AQR Gl 6R6E ?

A) 140 B) 207 C) 204 D) 270

What shall be the percentage of profit if a shopkeeper sells 2 lemons at the cost‘price of 5
lemons?

A) 100% . B) 125% C) 150% D) 130%
@641 6QIAIN1 5 G 6REQ Al QAR 2 § 6RYY FTRER AILNQ FFRG! NN 6REE 6297
A) 100% B) 125% C) 150% D) 130%

If A:B=3:4, Bi C=5i6and C: D= 119, At D=_ > 2 '

A) 50:60 MR C) 60:70 by, 6545
QGA: B=3:4, B:C=5:6 4@°C:D=11:9 SAD = 6@6R?7

A) 50:60 B).. 58 12 C) 60:70 D) 65:75

7 members of a family live for 36 days at Rs.840/-. How many days can 9 members of that
family live at Rs.810/-? :

A) 24 days B) 27 days C) 30 days D) 36 days

6QlITN IRRIQQ 7 REl QYT 840 SFIER 36 TR ORAIAE | 69T TRARIAA 9 K U@ 810
CRIEAERES TR OF AAEQ ? :

A) 24Q9 B) 27@% o (B (i~ B D) 36Q@

The H.C.F of 2 numbers is 3 and the L.C.M is 60. If one number is 12 what is the other
number? ’

1

A)T5 B) 18 €y 18 D) 36
9RG QR 61.Q1.G. 3, M.Q1.G. 60 1 6BITI QG| 12 626 AR A°HUIT 6@6G?
A) 5 B) ™o C) 18 D) 36
What shall be the cube root of the number obtained when 5488 is divided by 22

A) 13 B) 13 C) 14 D) 18
5488 @ 2 919U LS @Em 69Q QI QYACLQ VILIQ WA 69667

A) 12 B} 13 C) 14 D) 18

The average of 5 numbers is 15.8. If the average of the first 3 numbers is 13 and the average of
the last 3 numbers is 19, what is the 3™ number? '

7.5 S B) 16 ) Cy s Dy - 18

50 QIR QIAULIR 15.8 | FeUE G6RIT L°HIQ LIQILIR 13 4Q° 6618 T6QIT A°HYIQ AALIA
19 626M, QRN A°HYIT 6R6G?

A) 15 By.~<16 Tyl ? D) 18
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56.

60.

61.

62.

63.

64.

65.

66.

67.

What will be percentage of profit if a pen is bought at Rs.20/- and sold at Rs.25/-?

A) 16 B) 20 28 ' D) 30
6QIGN @AY 20 TFIEQ @& 25 TFIEQ IREM JORA! 6R6S MW 629 ?

A) 16 B) 20 )25 D) 30

If A:B =3:4 and B:C = 8:9, what is A:B:C? : '

A) 8:6:9 B) 6:8:9 C) 9:8:6 D) SE DO
Q% A:B=3:43B: C=8:9 g\, 6069 A: B: C 6@6Q?

A) 8:6:9 By e Be9 C) D 82 9

How many poles will be required to fix them at an interval of Smeters in a road of 100 meter
length? ‘

A) 20 B).-19 C) 21 D20

100 7. A 98 QIYILA 5 TR QIQUINEA G4 6TGRI TR 6RETIT Y& AR 6297
A) 20 Wt e Al D) ' 22

If the surface areas of two spheres are in the ratio of 4:25, the ratio of their volume is:
A) 4:25 B) 254 €y - 1288 D) &l25
23 2 G 60INQQ JAGRA QIS 4:25 Y4, 6AVFQ AUAGRR AQUG 62662

A) 4:25 B) 25:4 )7 4958 D)~ . 85¥25
What shall be added to each of 6, 12, 16 & 18 to make the H.C.F of the additions 1?

A) 4 B) 3 )2 Dyt

6,12, 16 8 18 Q YEQURER 6REQ 6KIGInEm 6T Q_@@Q Q. dl. 9 1 699?

A) 4 ) B) &8 (52 D7

The minimum mark to pass an examination is 33% of the total marks. A student secured 220
marks and failed by 11 marks. What was the total marks of the examination?

A) 800 B) 700 C) 900 D) 600

6415\ IQNBIER TIY @S QIR ASRE FYQ 67T FYAR 33% | 641 BIG 220 AR QY 11
QFQ IR 6TFR 626M | ANIVIES 6711 RFQ 6R6S RI?

A) 800 B) 700 €l 900 D) 600

4 @I6Q 12,500 ORI @R 15,500 SwIER QSR @ QEe Aok LRINQ LR ERE?
A) 40 Years B) 35 Years C) 30 Years D) 20 Years
6@60 QU6Q 5% AR G6Q 61613 IR RS GG 629 ?

A) 4099 B)' 35 Q4 C) 30Qd D) 209

A table was sold at 5%'proﬁt. Find out the ratio of cost price and sale price of the table?
Ay 149 b 20001 ¢y 25320 D) Sl
6AIG 699M G 5% MINEA TG KGN 1606Q §A T G TPV FJRIQ AQAS 6R6G?
A 1:5 B) 20:21 C) 2120 D) 57

The H.C.F and L.C.M of two numbers are 12 & 72 respectively. If the sum of the two numbers

. 1s 60, what is the smaller of the two numbers?

Ky ie B) 24 C) 60 : oy 72
QRE A Q. QI Q. B . QAl. G, Y2UFEF 12 8 72 | AG A QAT AR 60 99,
6069 64 A°HYI QAT F1UQ AR A°GHIT 6R6S?

A 12 B} C) 60 i
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68.

69.

70.

e

72.

73.

74.

75.

What is the average of the first ten multiples of 3?

A) 15 B) 63 C) “18.3 D) 30

3 Q geIFl QaIG JEICRQ LIRIRIQ 696672

A) 15 By 16.5 C)« 183 oy ¥30

What will be the amount of compound interest if Rs.800 is lent at simple interest rate of 8% for

two years?

A) Rs.113.12 B) Rs.123.12 C) Rs.133.12 D) Rs.143.12
800 SR FRUAY I9RGI 8 G Qo LIAEA FAF 66M R FVACA 9GYE QY 6966 6297
A) Rs.113.12 B) Rs.123.12 C) Rs.133.12 D) Rs.143.12

What price a shopkeeper will mark on an article with cost price of 200 to give a discount of
25% and still gain a profit of 35%?

A) Rs.270 = ByeResS00 C) Rs.330 D) Rs.360

@64 6QRRT FENQIA 200 TR QAEA Qg@@ QIF1 6R6C @l eMGem 25% Qe QIR
€1 35% M@ dIRQ?

A) €270 B) ©.300 C) ©330 D) €360
The ratio of age of A & B is 3:4. If B is 4 years elder than A, what is the age of A?
A) 16 B) 12 C) .20 S e Dy 28

A BB QQuda adQdic 3: 418, A0IQ 4 Qd QQ 626M, AQ YA 6R6G?

A) 16 Bhh2 &) 20 D) 28
How many numbers within 100 are divisible by 4 and 3 both?

A) 6 B) 7 : o R D) 10
100 C1I6Q 6R6QIT LS QA 4 G 3 TIA TRURY?

A) 6 -5 s e D) 10

A water tank is filled up by a tap in 8 hours and emptied in 16 hours by another tap. If both the

~ taps are opened at the same time,how much time will the tank take to fill up?

A) 8hours B) 16 hours C) 128 hours D) 2 hours

9@ PR9QI 69T VSIS 8 ALIER qfil 4 NQ° M IR PRI Q]fﬂ AISGIFS 16 ALER
IR 621R2IN | QG 9@ AAUER Q@G‘ AR 9P 6N QAL 6961 AIGIRT 6R6Q
2212 QQQQGQIQQQ 2

A) 8wl B) 16 W« C) 128 @« D) 24l

The addition of two numbers is 384 and their H.C.F is 48. What is the ratio between the two
numbers?

A3 i5 B) 4:5 C)ii9i3 D) 1:3
QR% A°HIQ CANTR NI Y G 6T UG ¥ 626M, A AR AFAIC 6Q63 ?
A) 3:5 B) 4:5 €) 253 D) 1:3

After the sale price of electric fan was reduced by 20%, its sale increased by 40%. What was its
effect on the total sale value?

A) 12% decreased C) 30% increased

B) 12% increased D) 40% decreased

Qﬁﬁn‘ AR Qf_z}?lﬂ‘{ QUEA 20% RFNQ CARACA BI' Q G A°EHI 40% QEAMI | 696Q 671G
@ GQQ?JQI ORIl QUEQ '€ YA AGMI?

A) 12% QEm C) 30% Qeml

B) 12% Q@I . D) 40% QR
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76. A book was sold at a profit of 12%. There would have been 18% profit if the sale price was 18
paisa higher. What is the cost of the book?

A) Rs.5.00 B) Rs.2.00 C) Rs.4.00 D) Rs.3.00

6OIGN QF 12% RINCA 07 FAUTR | FFIR 2UQ 18 IRAI AYR 6LARYER 18% MR
62IRIB! | 9ITQ QUMY 6R6G?

A) ©.5.00 B) 9. 2.00 C) ©.4.00 D) Su8:00

77. The ratio of milk and water in a mixture is 3:2. If 4 litres of water is added, the quantity of milk
and water becomes equal. What is the quantity of water?

A) 8liters B) 10 liters C) 12 liters D) 16 liters

@ F966Q H1Q G feQ 2GS 3:2 | 9T 4 ACQ F AIIN ¥8° IR 8 IR AGAE
AR 4, 606Q AR AL 6R6G 6297

A) 8QGQ B) 10 QeQ C) 12@e D) 16 @eQ

78. 5 should be added to which of the following small numbers to make the addition divisible by
24,32,36 & 64?

A) 1147 B) 1176 C) 1215 D) 1818
Q671D 699 YO A°HIER 5 6IINFER 6AITTR 24, 32, 36 8 64 FIA TR 6292
A) 1147 B) 1176 C) ‘1215 Dy ]818

79. Two taps ‘A’ and ‘B’ can fill a cistern in 28 minutes and 42 minutes respectively. A third tap ‘C’
can empty it in 42 minutes. If all the three taps are opened, what time will the cistern take to fill
up?

A) 12 minutes B) 28 minutes C) 16.8 minutes D) 42 minutes

9a% aIfieR A 99° B 660N Qaq FRIg6 28 {Re 6q 42 ARTea g4 @RTINR | Gole
AIdee 42 T0e6a CIAIg WA QACIER | A7 9A3 AFTRRG 9@ AFUER CHIR QRN
6069 Q8% g4 62919 660 AFD AITS?

A) 12 minutes B) 28 minutes C) 16.8 minutes D) 42 minutes

80. Whatis the cubercotof 2::;”
A = B) = 0 Z , D) =
=24 AR 6966 ?
N By 48 Qs ok 350
81. If 8% of ‘A’ is equal to 4% of ‘B’, what percentage of ‘B’ will be equal to 20% of ‘A’?
A) 10% B) 15% C) « 200 : Dy «28%
UQ'A' Q 8% 'B' Q 4% Qg QAR 29, 6069 "A' Q 20% 'B' Q J0R| 6@6% AL AClIG 6297
A) 10% B) 15% C) 20% D) 25%
82. If the simple interest of some principal becomes its 2/5 in 5 years, what is the rate of interest per
annum?
A) 10% B) 8% o) s D) 4%
AT 6q16d 99 FRUAQ ARG 5 @F TEQ FRUAR 2/5 §4, 6662 QTR JUR TR 6R6S ?

A) 10% B) 8% C) 6% D) 4%
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83.

84.

85.

86.

87.

88.

89.

90.

If Rs.782 is distributed among P, Q & R at a ratio of 1/2:2/3:3/4, what is the share of R?

Ak Rals3 'B) Rs.305 C) Rs.453 D) Rs.306

$782 q P, Q B R Q1I6Q 1/2: 2/3: 3/4 6@ QI& GRUILIN, 6669 R Q QISIERQ 6R6C 6@l AGQ? .
A) 9153 : B) ©305 C) 453 | D) €306

What is the sum of the positional and the actual values of 8 in 438362

A) 88 B) 808 C) 880 D) 888

43836 6Q 8 Q ARG FIR B JQYO NI CAINTR 6REG?

A) 88 B) 808 C) 880 D) 888

If each side of a square is increased by 25%, its area will increase by:

A) 25% B) 50 % C) 40.5% D) 56.25 %

QG 601G QF 6HIgR goUR QIZQ FGRGI 25 QUIAN, 6O6Q MR CIGTR FCRT!
6960 Q@@ dInQ ?

A 25 U B) 50 % C) 40.5% T 56.25 %

1 cubic meter = cubic centimetre?

A) 1000 B) 10000 C) 100000 D) 1000000

1 Q4 = QR6Ad?

A). 1000 . B) 10000 C) 100000 D) 1000000

At what percentage of simple interest, Rs.4800 will grow into an amount of Rs.6480 in 7 years?
A) 5% B) 6% C) 3% D) 4%

JCNC 6NCC AW IR 4,800 Sl 7 Qg6Q 6,480 O'@IgQ Qﬁ‘ 6Y9Q? :

A) 5% B) 6% ). 5% D) 4%

What shall be the amount of compound interest, if Rs.10000 is invested at the interest rate of
5% for 2 years?

A) Rs.1000 B) Rs.1025 C) Rs.1050 D) Rs.1075
S6Q0! 5 OF1 QI 2106R 10000 OF TRCAT F6R, 2 FH6Q 0598 Qo 6766 6297
A) Rs.1000 B) Rs.1025 C) Rs.1050 D) Rs.1075

The marked price of one article is 25% more than its purchase price and a business man makes
a profit of Rs.125/- after allowing 15% rebate. What is its purchase price?

A) Rs. 2000 B) Rs.2200 C) Rs.1500 D) None of these

D QYR RYS MY LA FATRIOIR 25% ZRJD NM@° 15% Q2IE 6QR K64l QLT 125
I AR AEM | LA FATRY 6REG?

A) Rs. 2000 B) Rs.2200 C) Rs.1500 D) 6Rl9dG Q6%

Distribute Rs.355 among Ram, Shyam & Hari in such manner that Ram gets Rs.20 more than
Shyam and Hari Rs.15 more than Ram. How many rupees will Hari get?

A) Rs.100 B) Rs.120 Gy Re. 1395 D) Rs.150
355 G@IQ QUL SIFT G 2Q ARG YA QAULEQ UE FLIKIR, 6AAR @ QUIF, SIS 2ASARI 20
@l 2@ 8 2Q QU AR5 STl ZRIS AINR | 6969 2R 6R6C TFI AING?

A) Rs.100 B) Rs.120 C) Rs.135 D) Rs.150
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91.

92.

93.

94.

95.

96.

Find out the next number in the sequence: 1, 4, 9, 16, 25, ...... ?
A) 35 B) 36 @y 49 D) 49
14,946,255 ... 24@ 2AQQCIeR UOQR A°HUIT Fga Q|
A) 35 B) 36 C) 48 D) 49

What is the cube of—1 §?

7 17 17 e
A) -1— B) -2 C) -4 D) 4=
—1%@990’9 6Q60 2

Z ¥ 17 17 7
A) -1 B) —22 C) -4 D) 4=

In an examination 40% students failed in Mathematics, 30% in English.and 10% in both, what
percentage of students passed in both the subjects?

A) 30% B) 40% ) 50% D) 70%

QI AQIFIER 40% BIQ FEGER 30% LIF R°QAUGT NQ° 10% RVAERA 6TM CXER, IR
6@60 8IG VG FVAER AIY FEM?

A) 30% B) 40% C) 50% D) 70%

If the principal amount trebles in 6 years, in how many years will it increase by 4 times?\
A) 8years B) 9 years C) 10 years D) 12 years
66T PR 6 T6Q SYTG 626m, 6966 QTR GI2 VRS 629 ?

A) 8Qd B) 9@d C) 109 D) 1298

The ratio of two numbers is 3:4. If 6 is added to each, their ratio becomes 4:5. What is the
difference between the two numbers?

Ay B) 3 Cc) 4 D) 6

QG Q"R AFAIG 3:4 | AT YERIR A°HIERQ 6 6T FAULDIN, 6N AGAS 4:5 I
Q°HY AR YA TR 6QER 6297

A) 1 B) 3 Oyt D) 6

'A shopkeeper gives one pencil free on purchase of 24 pencils. Then what is the percentage of
‘rebate given?

A) 5% By 4Y C) 10% D) None of these

964 6QIRIR1 24 & 6ARTN FA6R, 6T URTM AIGIKIER T | 6069 J0RG! AL
6@607?

A) 5% B) 4% C) 10% D) 69A6Q Q6%
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97. The average of 6 numbers was 30 when one number was written wrongly as 17 instead of 71.
What will be the actual average if the number is written correctly?

AY sl B) 33 o) Sk D) 39

PNDEC 6GITN AHIIQ 71 FIREA 17 641 AIRYR 6961 6 & AHHIQ AQIAAR 30 62R2UN
69 A°HMITY OF VIES 6RYER, 6ATIFE IO TAULIR 696G 6297

A) 21 Bya33 C) 36 Py 39
98. If the volume of a cube is 512 cubic meter, what is the perimeter of its surface?
A) 36m B) 64m O i D) 28m
N@ TR ALK 512 9F TR 626R NLIQ RFQ QA1 6260 2
A) 36 9@ B) 64¢ga . . 0O 3280Q D) 28 deQ

99. If the height of a cone is doubled, its volume will increase by—

A) 100% B) 200% C) 300% D) 400%
9@ 6015\ 6QIAQ AFT YRGS CAARAIN, 656@ LR LGSR 6T6TGS FRANS?
A) 100% B) 200% C)300% D) 400%

100. By which of the following numbers shall 77,147 & 252 be divided to leave the same remainder
in each case?

A) 9 B3 )23 D) 35
Q6CID 699 A FIQU 77, 147, 6 252 @L@m‘@e@ QUGEHT Y6RYa AR6Q AR QRQ?
A) 9 B) 15 R 23 D) 35
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